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1. 4x3+6x?-7x+5, cubic, 4, 3 1-1 HWAnswer Key
. 3x%-4x+5, quadratic, 3, 2

. 15x3+4x%-x+5

. -15x3+2x%+5x+5

. -3x%-Tx+14

. -9x%+3x-3

. Ox%-3x+3

L 6x*+27x3-18x7
-6x°y-2x>y3+10x%y2-4x%y?

O 00 N o0 G WM™

10. -y*-2y3z+x%y2+x3-xy?-2xyz
11. 2y2-32
12. 21a®-29ab-10b?

13. -4x3+23x°-12x-15
14. When multiplying two polynomials, multiply each term of

the first with each term of the second.
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1. Write 6x"+4x*-7x+5 in standard form.

Standard form: 5 ¥ >4 by=-"1x ‘I"5

Ldentify: name: (* W (C leading coefficien?‘-_‘i, degree: >
2. Write 5 +3x%-4x in standard form.

Standard form: 2 % ~—9% 5

Identify: mma:ﬁ_@gﬂrlmding mszicien’r:i’, degree:_&.

Add or subtract. Write your answer in standard form.

3. (Bx+eBp(15xted-3x) = | Sy 2HY K T—x +5

i
4, B 2xB)(15x-3x) = 2% A+ 5 =1 S PR X
=—IS5K AT 45K TS

B, (4x2-3xs0)(-4x+5-Txd) = —3X =1+ Y

6. Subtract (2x%-3x+9) from (6-7x%)= {fp*TKL)" ( Axb~2x +f-1)
==K dXE + 3¢ —9
= =4x-+3%-3

7. From (2x3-3x+9) subtract (6-7x%)= (Dy =3¢ +4 ) = (6 ~T7x% lLJ
= X =3%td — 6 T 1K

= ?ﬁl xS

Itipl rite in standard for
B. 3x%(2x%+9x-6)= b X ul +17 X 3_ | ?ﬁl
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9. -2xPy(3x exy?-Bxys2y)= — lo X";t — A X ":‘}:' +1OK *@v— —1r g

10,0¢-2yzyyez Y (X Y 2—E) R(KAg % ;L
= ’zj, =2 L&‘f 1‘4;{5—,1;;9_% -534
=y AP HY A F=axy 2

11. (2y-8)y+4)= ;5],1'4.?9-_5‘3'—3;‘ - ;g-l.__zg\

i
12. (3a-5b)7as2b)- 2\ o= Fleab-25Sab —Ob
=2 \o* -29 ab —106*

13.(3+ 3x - 5 - 5) X (B4 op—lx®) - 2(5 +3:-¢~H’:><LJ
= a3yt -y 15 19X 420K <
= =Y 23— x —15

14.Explain double distribution. l J
ﬂ&%ﬂ&u wpesh ] Whean “‘ILJ'“P/ET Leﬂi

Polugpninnials. m@%ﬂ% |
4 M 5,r st e ﬁm b‘a[-

f}é -M”\{ﬁ
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1-2: Dividing Polynomials

Using Long Division to Divide Polynomials

. R
. &zh!nmu_g S LO_' lg | MWUISIAN s 2 method for dividing a
polynomial by another polynomial of a lower degree.
o Ttis very similar to dividing |4 ZbQ ‘ e zzaméerx

Arithmetic Long Division Polynomial Long Division

2
Divisor Quotient Divisor 2x 4+ 3 = - Quotient D: ax =2xX
12)277 «— Dividend %

_a’.) ;‘;\ A ¢ +i ::::’ I i‘\ + 7«—— Dividerfd (\\ ﬂ@) = 15(11" X
"‘3‘J.7 S 3x+7 S Neqoke ot

| E‘?x-l—.s +;}3_

‘We can think of long division as follows:

F(x) + 6(x) = Q(x) with a remainder of R(x)
where F(x)is the T

6(x) is the Diviso
Q(x) is the Eégi::i:;ﬁ
and R(x) is the |
How can you check your answer? Check both answers. &‘o‘%“‘\‘ X tb]\f.Sor -\’ Qﬂma’ln&o r
(2D + |
Ax > +3x HhFe H
IxE + X +7T
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9%
Examplel: 2x*—4x2+2) +(2x-2)

Step 1: Write the polynomial in standard form.
Include missing terms with a zero coefficient,

Step 2: Write in long division format. -2 +OX + A
. Afx 2o 22 _
Step3: Divide first terms.# =X o S 4 3 +OX
AN 3 = 14> +3.
Step 4: Multiply. X (ax=3) = X X X
X ay-2) = 2-25) A —av +
StepS: Subtractand bring down the next term. - ¥
Lsneggte. both Nerms >
Step 6: Repeat steps 3 — 5 as necessary. o

Step 7: Check and write answer.

Example2: (x2+6x+9) +(x
Cx 13 z

x43 | x7 e ™ <) e
F3x | g
3x+9 BD
-2 F9

O
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Example3: (y*—27) +(y-3)
D- -%5‘3'531 %3;3\3. -;’5
MDD {33 [9fy5)
S \usa)‘e, wsth
BD:

Example4: (11y2—-1+6y3+2y) + 2y+ 1)
302 +4y - |

Ry YE'%/:N\S‘—} Ay -

¥3¢2
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Example 5: (x2 + 8x +19) =(x + 5) @
— P

Y45 T 7 rEs
- %2 3¢
T 319
"X FI5
—

Example 6: (5x?- 10 +2x3 + 5x) +(2x— 1) X; ‘]’3}( '\'Li' _-—9%'|
x| ax®+ 532 8¢ —10
- QY3 + Xl

(px’-‘f'ﬁx
= x> +3x

€x —/o

- ¥y 1Y

%
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